NT6034 1625604

2019(0dd)

Time : 3Hrs. Sem. VI Mech.
Prod. Tech.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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11.
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OR (3121an)

What is inventory control? Explain the nessecity of

inventory control in industry.
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(a) Differentiate between jigs and fixture.
(b) Mention different clamping devices.
6
(@) o4 vd fhadaR @& 19 IR &1 S
N |
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OR (3121d1)

State the advantage and disadvantage of flexible
manufacturing system(FMS)
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(i)

(iii)

(iif)

(iv)
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(|) e e
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Ergonomics does not imply the following factor.
(a) Relationship between man and his working
environment
(b) Filling the job to the workers
(c) Physical ability of a worker to suit a
given task
(d) Human factor with engineering
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(]) AT ®R® & AT SN -1gRar

Productivity is equal to.................
(a) Input/out put
(b) Output/ Input
(c) Output -Input
(d) Input -output
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GROUPC (vi)

Answer all Five Questions.

g uig gl & SR o

6x5=30

7. Explain the concept of line balancing with the help

of a suitable example.
6

TP IUYFd QT8 & gRT g A DI
HHT DI ARAT N |

(vii)

OR (3121an)

What is plant layout? Write the characteristics of (vii)
plant layout.

Wie—dl 31SC BT 2?7 Wi —alIA¥E D
faRrsearail &1 ford
8. Define method study. Write down the procedure (viii)
of method study.
6
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In which of the following operation jigs are
preferred over fixture?

(a) Drilling

(b) Turning

(c) Milling

(d) Grinding

=1 4 9 fog TR o fPaax )
geqr # o9 @1 yae f&ar siar = —
(an) fgfer

@) effw

(|) faferT

() urgfesT

JIT (Just in time) is:

(a) Single unit production
(b) Big lot size production
(c) Both (a) and (b)

(d) None of the a above
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OR (3121d)

Write the principle of motion economy.

fa—3refaazen & fag—dl &1 Sed@ Y |

Enlist the factors affecting the process planing.

4
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OR (3121d1)

What are the type of production system ? Define

one of them.

Sd1e 9oTTell fhad bR @ Blid 27 fo=)
TUh I gRATRT B |

Explain following terms:
(a) Plant capacity 4
(b) Machine capacity

NT6034

x)

(xi)

(xi)

(xii)
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For mass production, the most suited layout

(a) Process layout
(b) Product layout
(c) Cellular layout
(d) Fixed position layout

Jgq—SdIed @ foIy ¥ea9 Suygad o—

(31) U o ST
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(2) fhaas uisiieE AsnSe

Which of the following is not an Inventory?
(a) Machines

(b) Raw material

(c) Finished product

(d) Consumable product
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Can not be detected by using visual inspection.

(a) Blowholes

(b) Crack within the cost
(c) Tears

(d) Rattails
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Gantt chart gives information about:
(a) Scheduling & routing

(b) Sales

(¢) Production schedule

(d) Machine utilization

C A P IR A AT QAT B
(31) Rrsgelin va wfewT

@) I

(\) Scaure fasgd

(?) wef= SuAT

Dispatching involves;

(a) Starting the work

(b) Collection of data

(c) Making plan correction
(d) All of the above
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